> CONgeescssscces
©0 00000600

&
&i L

R &R A ED T 5 B R I D B
(DBFMIRTE)

53%m BRIHBE
= 3 A0=1:2,500
=T B

(A3=Not to scale)

R 2

HEHRER=E

B0

HFEDRETUEEE

(10/21)

TS

A | /NES|

FHEHHE=SEE

AN

HHFTEXE (32 EH L)

TR

RFR

LR AHEE
TERIENVE

Rt

BEiREEEET At

100
50

B—ETRETETAME

200
60

BETRETEE AN

200
60

B—IEEEHIE

200
60

B TR(EfEME

200
60

(T[]

200
60

TS E Sy

200 300
80 80

[EES:e

400
80

T S

200
60

TSl

200
60

TSR

200
60

FRHURODISE D75 WO R (—AREHE)

200
60

IS DIEE D75 WKL, (kR )

100 200 400
50 70 70

LB BTEE TRIENVE thEy: BigiER|

EME
I FR L

T HI AR S HX

FiRERDE X

mhiEthiEEX

EXRRREMX

REREHIX

BEREMX

BB DR X

REMX

rEEYV -V

BE1 65—

BERPRRREY —>

BEEY -V

ttEEEV—>

RAEZRY—V

DD
izt X

ZERF NI

EREBX

NEEDREEE Dooooooiet | (meEEaEE e

B A

-
|
Lt

X EHE

50 100 200 300 400

500m

ZEXE

EhrERR

BT EIER

NER e

i
REEE

THXEEEEE

Z Dt

I DESR

FrfeaR XI5




